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QUESTION 1

After adding the VP9650 MCU to the SMC2.0 in a manageable way, the MCU is offline. Which of the following
descriptions is correct? () (multiple choice)

A. The MCU connection method is wrong, it may not be SMC2.0

B. There is a firewall between MCU and SMC2.0, port 5000 may be blocked

C. The SNMP mode setting of MCU is inconsistent with SMC2.0

D. The HTTP connection password on the SMC2.0 is inconsistent with the connection password setting on the MCU

Correct Answer: AB

QUESTION 2

How to order the recorded video on RSE6500 on the terminal side? ()

A. When there is SC and routing has been configured, the terminal directly calls the IP address of RSE6500

B. When there is SC and routing is configured, the terminal directly calls the recording ID

C. When there is no SC or SC is not configured with routing, the terminal directly calls the recording ID

D. When there is no SC or SC is not configured with routing, the terminal calls RSE6500IP address##Recording 1D

Correct Answer: BD

QUESTION 3

Which of the following information is contained in the RTP packet () (multiple choice)
A. Type of transmission media

B. Number of lost packets

C. serial number

D. Timestamp

Correct Answer: ACD

QUESTION 4
In the remote disaster recovery scenario, when the master node (U1981) fails, POTS user A of a branch node (The

branch site equipment is U1911). If you make an outgoing call to the local PSTN user B through the branch node, the
network element through which the SIP signaling of the call passes is ().
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A. U1911->Preparation U1981->U1911

B. Prepare U1981->U1911

C. U1911

D. U1911->Main U1981->Backup U1981->U1911

Correct Answer: A

QUESTION 5

Regarding the advantages of MCU cascading networking, the following statement is wrong ()
A. Insufficient port capacity of a single MCU, cascade to increase capacity

B. The center MCU line bandwidth is insufficient, cascading reduces bandwidth requirements
C. Realize device partition management

D. Strengthen meeting security

Correct Answer: D

QUESTION 6

One codec rate is 64kbps, and the packaging time is 20ms. What is the IP band occupied by the codec? The width is ()
kbps (Note: IP/UDP/RTP header is 40 Bytes, here 1kbps=1000bps)

A. 83.6
B. 76.6
C.90.4
D. 80

Correct Answer: D

QUESTION 7

If AAC_LD uses an encoding rate of 48kbps and a packaging time of 20ms, what is the IP bandwidth occupied by the
encoding () kbps

A. 80
B.74.4
C.64

D. 76.6
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Correct Answer: C

QUESTION 8

Regarding Huawei Videoconferencing VME technology, which of the following descriptions is correct: () (multiple
choice)

A. It can improve image compression ratio and save bandwidth

B. Optimize the image processing of the active area to increase the clarity

C. Optimize the graphics in the static area to increase the clarity

D. VME\W's frame doubling technology can improve the smoothness of images

Correct Answer. ABD

QUESTION 9

In the message classification of the RTCP protocol, which of the following messages describe the receiving statistics
data of the receiving gateway? ()

A. SR

B. BYE
C.RR
D. SDES

Correct Answer: C

QUESTION 10

In the U1900 series unified gateways, regarding the relationship between prefix, office direction, office direction
selection code and trunk, the correct statement is () multiple selection

A. One prefix can only correspond to one office direction selection code

B. One office route selection code can only correspond to one prefix

C. The correspondence between office direction selection code and office direction is one- to-many
D. One office route can correspond to multiple different types of relays

Correct Answer: AC

QUESTION 11
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After the terminal initiates a call and sends an ARQ message to GK, it receives an ARJ message. The possible reason
for the call rejection is () (multiple choice)

A. The called is offline

B. The called party refuses to answer
C. Insufficient call bandwidth

D. called busy

Correct Answer: AC

QUESTION 12

In the Huawei eSpace UC solution, U1981, U1980, U1960, U1911 all support dual-system active and standby () Correct
or Wrong

A. Correct
B. Wrong

Correct Answer: A

QUESTION 13

Hold a 720P30 conference with low frame rate secondary stream, the recommended conference bandwidth is 768Kbps,
and the recommended network. The bandwidth is 1.5 times the conference bandwidth. () Correct or Wrong

A. Correct
B. Wrong

Correct Answer: A

QUESTION 14

At which level are SIP retransmissions and timeouts handled? ()
A. Syntax and coding layer

B. Transaction layer

C. Transport layer

D. Transaction user layer

Correct Answer: B
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QUESTION 15

Among the following types of boards, the one that can provide the function of connecting the U1960 to the PSTN is ()
(single choice)

A. SCU
B. ASI

C. MRS
D. OSuU

Correct Answer: D
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